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ALL QUESTIONS SHOULD BE ANSWERED ONLY IN THE SPACE PRQVIDED
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i

Suppose the economy suffers a high rate of unemployment. According to Keyresian economists, the

‘government should adjust the economy by:
a. decreasing money supply

¢. not doing anything

b.  having a budget surplus

@ increasing governmert spending
e

2. The unemployment rate equals:

| a. labor force / population
b. unemployed/employed ) A
¢, (employed - unemployed / fabor force "
d.}  (Labor force — employed) / labor force ¥

The government imposes a rent ceiling on apartments. This is an exam ,_Rlc of a{n): -

a. trade policy
b.  fiscal policy

income policy
d. monetary policy

4. Refer to the figure. In this economy,  the

\ unemployment mte most probably: \ g
GDP @ increased after 1989 until 199§ and then n \
i declined. i
‘b increased after 1991 until 1993 ard then it Q:
declined. :
¢.  Decreased after 1993 until 1993 and then it
Year :
increased.
1989 90 91 92 93 94 93 d.  Decreased after 1989 unti] 1992 and then it
increased.
1996 1997 w 1598
Quarter I i1 I 13Y 1 11 1 IV I I I v
Output 26 98 100 93 90 88 87 86 | 99 95 100 103

! 5.

fourth quarter of the year 1997

c.  second guarter of the year 1997

-Refe!E to the above table. In this economy, a trough existed around the: .~
9,

fourth quarter of the year 1956 d. third quarter of the year 1998,
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I1. Problem: (20 points)

- Gtven the data for a hypothetical nat;on ansswer the following questions (a} through {g) by shawmu }our calculatmus

.i’

i7" Business investment in plant and equipment 586.1 ¥ Residential constructions 453.7
), Inventory investment -30.%; Zﬁ,ustness retained carningg .. 457
Compensation of f:r;q::k))rees”c -+ §,178.6 4-Gdvernment transfer payments & interest 3371
rporate taxes o 215.9 § Imports of goods and services 285.0°
Exports of goods and services 3804 F‘*‘}_-onmbunon for socidl security 4417
Mepreciation 643.5 | Rental incomessse... 300.0
- Peréonal taxes 600.0 § Ket interest 50.8
-Government purchases of goods and services 1,589.7  Dividends... ... : 17
Indlrect business taxes . 489.6 _;Pmpn,eter s inconis™ b 100
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(2)

(®)

L

Calculate Gross Investment: -gg?éf "30.6‘ + (€2 = loOg,df

Caleulate GDP:_S | 2+ RIS v €435+ G £ + ¢ 3% o+ S0 B +12+ oo

.:?.‘oéioi 7 . ) : . - .

Caleutate NOP: 1,04 [ - £43.€= 6,397.4

{ @

Calculate National Income: é-; 392, = [J 99.4= S3o7

CalcuIaté Personal Income: C 808 - 258 — < } s 3374 . ‘f-(/f}‘ = ‘;S—(f i ¥

Calculate Disposable Income: KSGi-8 ~Lec = &,341 8
r

Calculate Personal saving: La‘:fl, fe ‘(7,.04-!" f= i co .G {, ?X‘(x"? 4 33?0: (‘, t 25"9‘: 55 (1 7

Calculate corporate profit before tax: __{ 2 T+ 2[4 - Ls. 1= 2724

Cﬁlculate income received but not eamed: 3} 3? i
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